
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-15b-switch-assembly
7/4/25

JWP-15B Switch Assembly
Product Images

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-15b-switch-assembly


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-15b-switch-assembly
7/4/25

Description

Index
Number Part Number Description Size Qty

 JWP15B-SA Switch Assembly (#1 thru #13)  1

1 JWP15B-701 Control Panel Kit  1

 JWP15B-SK Safety Key (not shown)  1

2 JWP15B-702 Overload Protector 14A 1

3 JWP15B-703 Machine Screw M4-1.41Px10 10

4 TS-2284082 Phillips Pan Hd Machine Screw M4-0.7Px8 2

5 JWP15B-705 Switch Box  1

6 JWP15B-706 Contactor  1

7 JWP15B-707 Strain Relief SB7R-3 3

8 TS-1532032 Phillips Pan Hd Machine Screw M4-0.7Px10 2

9 JWP15B-709 Grounding Plate  1

10 F001995 Ext Tooth Lock Washer #8 (M4) 2

11 JWP15B-711 Power Cable 14AWG*3C*3100mm 1

12 JWP15B-712 Motor Cable 14AWG*3C*850mm 1

13 JWP15B-713 Plate  1

14 TS-2246122 Socket Head Button Screw M6-1.0Px12 2

Additional Information

Stock Number 722150-7

Products in this set

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-15b-switch-assembly

